101 701 112

80¢
803

113
114

o 705

804

©= ©= =9
806 807
808

Serial

no part No Material | Qty Serial no | part NO Material Qty
1 YPF-629F-101 _|Burst button ABS 1 32  |yPF-629F-503|Seal silicone of burst holes silicon 1
2 YPF-629F-102 [Spray button ABS 1 33 YPF-629F-504 [ tube of fuse 1
stainless
3 | YPF-620F-103 |water inlet cove PP 1 34 |YPF-629F-601] Sound spring steel 1
4 YPF-629F-104 |front cover of handle PP 1 35 YPF-629F-701|Screw ST3710 1
36 YPF-629F-702 | screw ST3*18 2
5 YPF-629F-105 |sprinkler head ABS 1
37 YPF-629F-703|screw ST3*8 2
6 YPF-629F-106 |handle PP 1
38 YPF-629F-704 | screw M4*18 3
7 YPF-629F-107 |switch of steam ABS 1
39 YPF-629F-705| screw ST3*12 1
8 YPF-629F-108 |steam support PP 1
PP 40 YPF-629F-706 | screw ST3*10 2
9 YPF-629F-109 |water tank PP 1 41 YPF-629F-707 | External tooth washers ™ 1
10 YPF-629F-110 |soleplate of water tank PP 1 42 YPF-629F-708 | screw ST3*10 2
11 YPF-629F-111 |adibatic soleplate PF 1 43 YPF-629F-709|screw ST3*10 2
12 | YPF-629F-112 |up- cover ABS 1 44 | YPF-629F-710|screw M4*8 1
13 | YPF-620F-113 |Cord guard PVC 1 45  |YPF-629F-711|screw M4*22 1
14 | YPF-629F-114 |back cover PP 1 46 | YPF-620F-712|SCreW ST 4
47 YPF-629F-713| screw M4*5 1
15 YPF-629F-115 | Temperature knob 1
48 YPF-629F-714 | washer ™4 2
16 YPF-629F-116 |sound column ABS 1
49 YPF-629F-715[ Spring washer o3 2
17 YPF-629F-117 [cover of light PC 1
50 YPF-629F-716 | screw ST3*10 1
18 YPF-629F-118 |Line pressing board PC 1 51 VPF-629F.717| screw MA*S 1
19 YPF-629F-119 [ Thermal control link rod PPS 1 52 YPE-629F-801 | thermostat 1
20 YPF-629F-120 |cover of anti calc box ABS 2 53 YPF-629F-802| Plug 1
21 | YPF-629F-121 |anti calc box ABS 1 54 _ |YPF-629F-803| power cord 1
Electric heat pipe
22 | vPEs2oF201 |soleplate AL 1 55 |YPF-620F-804 PP 1
23 | YPF-629F-301 |Ceramic ring ceramic | 3 56 |YPF-620F-805,Closed end terminal 1
The grounding wire(yellow
57 YPF-629F-806 1
o4 | yPEgoora0y | PUrsttube assembly 1 and green)
58 YPF-629F-807 |wire (red) 1
25 YPF-629F-303 |spray tube assembly 1
. . 59 YPF-629F-808| wire(blue) 1
26 | vPreoor-s0s | THE heatinsulation pads 3
Copper needle valve 60 YPF-629F-809|fuse component 1
27 | YPF-629F-305 |components 1 Neon component
Aluminum tube of burst 61 |YPF-629F-810 1
28 YPF-629F-306 |function AL 1
29 YPF-629F-401 |pressing plate of fuse A3 1
30 YPF-629F-501 | Seal silicone of water inlet silicon 1
31 YPF-629F-502 |Seal silicone of steam holes silicon 1




